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(10 marks)
Notes:
(a)

MI1: Realises the need to use the product rule and attempts first derivative

MI1: Realises the need to use a second application of the product rule and attempts the second
derivative

M1: Correct method for the third derivative

Al*: Obtains the correct 4% derivative and links this back to y

()

B1: Makes the connection with part (a) to establish the general pattern of derivatives and
finds the correct non-zero values

M1: Correct attempt at Maclaurin series with their values

Al: Correct expression un-simplified

Al: Correct expression and simplified

©

M1: Generalising, dealing with signs, powers and factorials

Al: Correct expression




